Z.m — EL(V - EL) —|—§Kn4(V B EK) +§Nam3h(v - ENa) .
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g =0.003 mS/mm?, gk =0.36 mS/mm?, Sna = 1.2 mS/mm?, E; = -54.387
mV, Ex =-77mV and En, =50 mV. The full model consists of equation 5.6

o~ -

20 = o W) (=n) = )n

dn
’L'n(V)E =N (V) —n,

1
nV) = )+ AV
o (V) = 0 (V)

o, (V) + ,Bn(v) .

0, (V) =Ausexp(—qB,V/kgT) = Asexp(—B,V/VT)

1
1+ (Ag/Aq)exp((B, — Bp)V/ V1)~

noo(V) —



: &
20

01(V +55)

On = T exp(—1(V +55)) and f,=0.125exp(—0.0125(V +65)),
(5.22)
g X i AX 42X 4
- = — = -
[_“f(‘éf\ (- (1-k) — bx b
- 1(V +40) B = dexp(—.0556(V + 65))

T 11— exp(—.1(V 4+ 40))

ap = .07exp(—=.05(V +65)) Brn=1/14+exp(—=.1(V+35))).
(5.24)
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